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Solving and Graphing Inequalities in Two Variables – Homework

1. a)  Consider a delivery truck that is transporting televisions and microwaves to an appliance store.  The truck can hold up to 4000 pounds inside its cargo area (but no more than 4000 pounds).  The televisions weigh 100 pounds each, and the microwaves weigh 50 pounds each.  Write an inequality for this situation.
Inequality:  ________________________________________

b)  Graph the inequality using your graphing calculator.  Make a sketch of the graph in the box at the right.  Please label the x and y-intercepts.
c) Will the truck be able to deliver 35 televisions and 25 microwaves at once?  Explain how you know from the inequality and the graph.

d) Will the truck be able to deliver 23 televisions and 34 microwaves at once?  Explain how you know from the inequality and the graph.

e) Suppose the truck couldn’t hold 4000 only hold less than 4000 pounds.  Write an inequality for this situation.

Inequality:  ________________________________________

f) Would the truck be able to deliver 20 televisions and 40 microwaves under the new constraint?  Explain how you know from the inequality and the graph.

2.     a) Consider the situation where a salesperson works off of a commission (meaning you get money for selling merchandise).  Suppose the salesperson sells two different types of products:  i-Pods and i-Macs.  The salesperson gets $2 in commission for every iI-Pod sold and $20 for every i-Mac sold.  The company will fire the salesperson if his/her commission is not greater than or equal to $100 per day.  Write an inequality to model this situation.

Inequality:  ________________________________________


b)  Graph the inequality using your graphing calculator.  Make a sketch of the graph in the box at the right.  Please label the x and y-intercepts.
c) Will the salesperson be able to sell 3 i-Macs and 3 i-Pods and not get fired?  Explain how you know from the inequality and the graph.

d) Will the salesperson be able to sell 5 i-Macs and 3 i-Pods and not get fired?  Explain how you know from the inequality and the graph.

e) Suppose the company will fire the salesperson unless he gets more than $100 per day.  Write an inequality for this situation.

Inequality:  ________________________________________

f) Make a sketch of the inequality with the new constraint.
g)  Will the salesperson be able to sell 4 i-Macs and 10 i-Pods and not get fired under the new constraint?  Explain how you know from the inequality and the graph.







































































































































































































































































































































































































































































































































































































































































































































































































































